Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Education_02.02.2024_12.00 PM TO 02:00 PM
Exam Date : 2024-02-02
Exam Time : 12:00:00 PM To 02:00:00 PM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:

Section: Section-A

Identify the tense used in the following sentence:

I have been working on

the problem. [ 1 Mark |

= Present continuous
= Present Perfect Continuous

= Past Perfect

= Past Continuous

For me, breakfast is ...

A
An
The

Throw this pen ..........

= Into
= |n

= None
= On

......... best meal for the day. [ 1 Mark |

None of these

..... the dustbin. [ 1 Mark |

Synonyms of ‘Fostering’ [ 1 Mark |

= Safeguarding

= Neglecting
= [gnoring
= Nurturing

This is a good............

= Plot

= Spot

= Scene

= Landscape

for picnic. [ 1 Mark |




Which protocol provides e-mail facility among different host - syl wlelsld (dldy ele g 8-
Nod Y[dul velel 523 82 [ 1 Mark |

FTP
SMTP
TELNET
SNMP

Which of the following is not an operating system? - oflAoil Hiell 58 U321 122U «ieil? [1
Mark |

= DOS

= Linux

= Windows
= QOracle

Which can be used for quick access to commonly used commands and tools? -

%Boil GUYULDL MM Id GUULIIHI Ad il 1121 Vol Hltoilel HSUL 1] Ui A 23 2 |
1 Mark |

= Status bar
= Tool bar
= Menu bar
= Title bar

What are inserted as a cross reference in word? - Word Hi $1 i{s?.ﬂ-l NE1E) 21 eluld sAIM
(1d 82 [ 1 Mark ]

Placeholders
Bookmarks
Objects
Word fields

Which command will you choose to convert a column of data into row? -

Hi[&dl(data)ell 2cii(column)al AN (row)Hi 1Uid R sl HI2 dN SAUL B[B2L UAE $22112 [ 1
Mark |

Cut and paste
Paste special > Transpose

Both - GUR 5 Gial
None of these - GUR Hiefl ¢ (&

Book: Cover:: Painting: ? - ¢5: §dR:: U (e2o1: 2 [ 1 Mark |

Wall - €ldld
Example - G180
Colour - 231

Frame - ?51-[

1.6:72::8:?[1Mark|

88
107
96
75

Laugh : Joy :: Weep : ? -éﬂq : VLot o ?.Sfi: ? [ 1 Mark |

= Grief - §:W

= Remorse - Udld]
= Penalty - €S

= Baby - {1015

Choose the word which is different form the rest. - B 210¢ ‘3&.1 ‘§‘a SlU d wiSlell 2N URie
$. [ 1 Mark |



Cap - Y
Turban - UL&LS]
Hat - 2\l

Veil - USel

o If SUMMER is coded RUNNER, the code for WINNER is -
°§l SUMMER <1 RUNNER 5135 $d[Hi %119, dl WINNER Hl2¢il §1S &2l- [ 1 Mark |

= SUITER
= VIOUER
= WALKER
= SUFFER

« What is the aim of educational research? - 28185 i20\tsisil éq 9 8?2 [ 1 Mark |

= [dentifying major problems needed to be solved - Bl G54 clddlef] e & ] Hw|

UHRY oAl 2 5L
= Searching for the new facts and principles underlying the process of education-

= Identifying the aims of education - [21&1Qlsil G3U\s{l MW
= [dentifying the values that needed to be included in the pupils

(GarieflHi qHLddl HIR %Re3] Yllsfl vl s2dl.

« Criteria of good research is written by - AR A2LYslell HIUES.......... GRLAWAIMI AL B, [ 1
Mark |

James Harold Fox - B3 &21¢5 sls5
PV Young - Yld oy

Karl Popper - S& UlUR

Delta Kappan - Se21 sWef

¢ Research is an organized and systematic enquiry, is defined by - A2lust ¥ A2U[6d WA cuaRed
duld 8, %............... GRLAALIRI sa1Mi 41l 8. [ 1 Mark |

s Kerlinger - s(Ed1R

= Emroy - AU2AY

= Marshall - Hi2ld

= PV Young - Yld 2y

e An investigator uses two matched groups to compare effectiveness of two methods of teaching
science. This study would come in the ambit of

[Astiet 2luiadlell A Ueglduilefl MAS1R5cllodl daoll Sal HIZ dULASdl 6] sitolAdl ogeileil
GUUIL ST V. VUL VMU .evereeeeeeeereenreeennees oll &1URALL w112l [ 1 Mark |

= experimental study - WIRLLOLS 16U 1Y

= causal comparative study - SIS0 déellcHS MY
» descriptive survey study - Cle*flld-L‘S %‘la[&'lh?l VY[
= phenomenological study - &2ellcHSs H&RU[Y

¢ In the formation of research problems for educational studies using quantitative paradigms, a
sequence of logical steps has to be followed usually in a particular order. From the list given below,

select an appropriate sequence from the code.——-AuALHS uzc_',f&oﬂ Guldl 53 21&1(@,13
Bl U2 A2AN el AHRY1BA] AU, ALY T ALssA sUUL dLlEs wlaiilell sHA
oA US 8. «{1A U] uleluiefl, slsuieil A1y sH yie 52,

1. Deciding the specific problem. --- YL S5 AHWY L] G‘l'&‘l.?-l Qd).

2. Determining the field of study. --- U{("U.R{{i e e 3?.{4',.

3. Identifying the variables involved. --- dui A9 Ydla Alnwdal,
4. Evaluating on the basis of personal and academic suitability of the problem-

—AUHRULA] cuSeidld el &1 [BLS AU LedL BLUIR YRUiSel . [ 1 Mark |

-

b)ul\)w\_-lk
A —_ == W

N W RN —
i S S A



o If a researcher wants to study achievement in a school subject with respect to the intelligence than
he has to take

%] 516 AU AL lell [ANAUT Rilegeil 21014 offegeil AeeiHi s Hid B, dl
dgl.............. Aq SNV, [ 1 Mark |

= one variable in nominal scale and other in interval scale - 2§ Y& JUAHS HIU U&C,[(‘ﬂ-l.l
W oflo) wid e HIY Yeg [dHi

= both the variables in interval scale - ¢{a UE) ¥ dUe HIUH]

= both the variables in ratio scales - 0isl Y€l DlQndQ HIV u%f;ﬂ-l'l

= one variable in interval scale and other in ratio scale - ¢iol YQ] JJ,QHTR. HIY Yeg [dui

¢ A hypothesis in educational research need not be - ﬂ&iﬁ;’l& AAlueAni qu'..l‘-ll?.Qll eldl a3l «iefl
[ 1 Mark |

= compatible with well attested theories and models - AI1R] A uHiLQld ﬁitﬁ,lcﬂ ol U136
UL YAdld
= logically consistent and pertinent to the question under consideration - dlEs 2d Yold

Wl [QURYIL U161l UL 18 Yidld
= capable of establishing generalizations that can be applied in many areas of education
or other fields

(2re131 weral viey AU |12 53] AU ddl Aol 530 e [Ud sAIMi qeu
= precise and plausible - U554 ¥ %E@Dlw_

e Assertion (A) In ex-post facto research, the researcher does not have control on independent
variables.
Reason (R) Manifestation of independent variables have already occurred.

[eideet (A) W& Ulre-352] 2iltel (&5lsdla uleynell duradlsil st Uegd)Mi,
Alusa i Y6l U (14481 Sld «teil.
$1281 (R) ¥l YCiloil vi(eicau(sd a8 Y$1 D, [ 1 Mark |

= Both A and R are true and R is the correct explanation of A -- A Wl R Giol YU O WA R A
Acil A1 AHAl B

= Both A and R are true, but R is not the correct explanation of A - - b.A Vol R 0ial AlUL
8, Ud R ¥ A ofl A1l AU il

= Both A and R is true -A %ol R 0il Y141 &

= Ais false, but R is true - A u]g 8, Ud R A1y, 8.

o If two variables X and Y have significant negative correlation, which of the following statement is
true?

%l 6l YA X ¥al Y ofltU A ol S1R1HS USA0it Ylddl Sl dl «{lAstimiell 53 (dulet A1 82 |
1 Mark |

= X causes variation in Y - X 31 Y 4 r(ll?ldl"i SR WA B

= Y causes variation in X - Y 3 X Ui ﬁi?ldlf’i 518 Wal B

s X and Y vary together - X Vol Y Us Ale Wedld 8

» X andY cause each other to vary -- X Ual Y A5 il 4¢d| dlRddle] 512 ol B

e Which of the following variable is discrete? - D ETEIEN Sﬁi‘ Yd 2 cid §? [ 1 Mark |

= Achievement - ﬁlf{g

s Intelligence - O:L[EE,

= Aptitude - 3 (HA)UdL
= Attribute - A& Gl

e Which is a focus group technique? - {ﬂ.‘s%{ YU 25(c1s 56 82 [ 1 Mark |

= [t is a method of research, involving the observations of a small group -
q 2lltele{l W5 Uegd 8, BUI stlotl geeil [&Ql 21 &

= [t is a quantitative research method, involving structured interview, using closed questions in
a large group of people
A WS HIsALHS AAdst Uegd 8, BHI dlslell [drLln qaui oid Ysllsil GUAlaL 53
UMW Be2ey 211Nd B

= [t is a method of interviewing, which involves more than one and usually four
interviews



d ®e2cy Adlefl s Uegld 8, BUI Vs Sl Ay el AlH oY Ad AR Yoy
A6 8
= None of these - GUR Hiell §¢ «1[&

e Which of the following is/are feature(s) of close- ended questions?

oflAstiniell 53 $6l WedS ([o1[2dd waloil) Usile] 41l 82 [ 1 Mark |

» Speed of completion is fast - AHL[HeAl 35U H5Ul B
= Low exploratory nature - o1l ANl Ll{s[a

» Easy to prepare - AUR s U
= Both Speed of completion is fast & Low exploratory nature

vial (ULl 35U PSUl 8) & (ofl ] Q2Mlusticts usld)

e Which of the following is not correctly matched? - DTN L] U1y Ad A Uild siefl? [1
Mark |

Achievement test - Content validity - (A (eq, uZletal - A Al Hisudl
Aptitude test - Predictive validity -4 (60194l $A1E] - W I21LENeA] Uil
Reasoning test - Content validity - d5 sAL2L - A1HAel] HisUdl
Personality test - Concurrent validityb - e (Sdcd I-R.’l?;lQl - ¥Hdd Hleddl

o A well-defined aggregate, from which a researcher selects some representative units for study
purpose is called .
s Y-culvAlRid W56, Buiedl AAlUcisdi 1eAIAelL &d UL B26ls Uld (o[t v sulsil

U] 52D dal s&alMi211d & [ 1 Mark |

= sample - 14l

= universe- g[&m

= population - cyufasd

= representation portion - (el [tedey @191

¢ The structured interview is - %gsus’ B2y 8... [ 1 Mark |

= used to derive more precise generalizations, in the early stages of investigation -

AWLMol UIR(MS doissIMD, day ALssA AU L{l 530 Anddl HI2 aujid 8
= such as it calls for less versatility and on the spot adaptability on the part of the interviews -

BH Y A He2rcell #1191 U ] Al el -0 U Aol Seel@HAL HIS 58
= most useful, when insight into a particular situation in the early stages of investigation is
called for -

Alel ay GUAL, 2RI dUlHetl YIRS dotssiHi SIE Alssy URRRAsA wide®
Y2 s&dHi 1A B

» more flexible than the unstructured interview - Mﬂ%QSHS(MﬂQlUHlES) Poe] S5dl dy
qails

e Which is not a correct statement? - .‘s?-j, (autet %ll{l', o{e{l? [ 1 Mark |

A test can be reliable, without being valid - UZ1&1Ql [dsddefld €16 25 8, Hisd &Yl [deil
A test cannot be valid, without being reliable - 4S11Q{l Hiod AV{] 251 o1e]l,
(csddely viol (Aol

A test can be both reliable and valid - I-l?]?;l@l (Al eofld 3ol Hi] 6o SIS 25

A test can be valid, without being reliable - [Asd¥e{ld o] (doil, UTl&1QL Hiy €165 2% B

e What best descri]_oes the Likert's technique of attitude measurement? - ([@s2sil Q[EZ!{RS HlUsiefl
25[o180] AW ABiel 2] 52 B2 [ 1 Mark |

= Subjects indicate whether they agree with each of a series of attitude statements, which are
equally spaced along an attitude continuum.

(AN YU B 5 9 Aull AN[CRYS e etseell €35 QM A1 AHd Uld B, B A(2YS

s{e2ayt A18 YUl wd3 B,
= Subjects indicate on five-point scales, the extent of their agreement with a set of attitude
statements.
(ANAL vid-Yeloll HIUESL UR YAd B, ddl [sideeilell Aye Al8l AHell sAe] st
= Subjects judge a particular concept on a series of bi-polar semantic scale.

(AN (g-ydila Rnfes Baefl AR U s AlssH wldedl (el 53 D).



= Subjects’ response to an open-ended interview are coded by content analyst -

WUel-0e3S He2re] Ui [ANAletl UldAlea s2o2 Wsil(@R GIR1 51S 5AIM| 2114 8.
e measures the extent of students learning, in a given content area. [ 1 Mark |

= Achievement test
= Diagnostic test

= Aptitude test

= Readiness test

¢ Read the following statements about a laboratory experiment.
1. It has relatively complete control of extraneous variables.
2. Its results are applicable to real life situations.
Choose the correct option

uAldieLinteil U2l (A2l «ilAsii [auisdl ail.

1. A olL6l AGlef UHIRIHI Ayl (1AL YR1d 8.

2. deli WRBLM dlcd(ds Wdetel URRalduila cldf us 8.
AL [dsey ue $20: [ 1 Mark |

= Both 1 and 2 are correct - 1 3ol 2 6ol YIUL B

= 1isincorrect but 2 is correct - 1 ¥ ung 3] 'l-léq 29 lej, 3]
= 1 is incorrect but 2 is correct - 1 % 2 ¢{aAH €]l 51¢5 1Y sef]

= only 1 is correct - §5c1 1 % I3 )

e An investigator wants to study the vocational aspirations of visually challenged children in a wide
geographical area. He should select his sample by using

s duldsdl [deun eldil[@s AAui e(Bell ussiRd vlinsleil culdqIRLSs vLsialviledl

WEALY $AL UL B. dQL................ ofl GUALIL 5314 Aell elyfetlofl Uiedi] sl F1SV [ 1
Mark |

= sample random sample - Alel HisRs olHsil Uedl
= purposive sampling - Hé(j,‘s olHeil Uil

= stratified sampling - xdRd olHqil yRieail

= convenient sampling - A} §U1 o1Hql| Uil

¢ Identify the non-probability sampling technique(s). - (cyet Aetlcy olHqil uiedil !-lﬂ[?sd(b-n)a
wlawl.
1. Stratified random sampling - l.kl?]{sd ol}qil uiedil
2. Systematic sampling - 2. 41%e110eg oi}ell U0l
3. Snowball sampling - 3.[o1ud (&1L olHsail uiedil
4. Incidental sampling - 4. &% slyell uiedil [ 1 Mark |

s land-¥d2
= 3and- W4 4
» 2and- ¥4 3
= 1and-al 4

¢ An experimenter administered a pretest on both experimental and control groups and found that
the pre-test means scores of the groups differ. Which of the following statistical techniques can
address this difference in studying the impacts of independent variable?

s AISA R WIRALOLS via (AL ool 3ol U Yd 54121o] 216t 54 ol 2] 512>
yd-yzlaileil viel ¥l 8% ogeilell UiHisl el us D). olAeil Hiell s¢ wissisla uY(5d 2t
Y ofl AR WEALY SALHL VL dslddal &2 $2 23 8?2 [ 1 Mark |

= Analysis of variance - GRIRIE] Y Ss5:lL

= Regression analysis - 21321l [ARANR

» T-test - T-USIARIL

= Analysis of co-variance - & GRIRIE] U S5

o Interval scales have -¥idl6 HIUES] UL [ 1 Mark |

= 1o statistical value - 5SLSIU [5Hd <18l
» no mathematical design - L3S (SHLeet o2l
= equal appearing units - AL ulldl AsHL B



= no equal appearing units - AW 2Ll A sH] el

Which scale is the simplest form of measurement? - H[Uola] Alefl Y0 Y 56 Hlu\l%ﬁ 82 |
1 Mark |

= Interval scale - idRI€l HlU.U.i.CJ[a

= Nominal scale - ¥{101W{ Hl‘l\li.g[a
= Ordinal scale - Mo}$H HIUUeg [l

= Ratio scale - DiQndl Luuueg[a

If null hypothesis is rejected, when it is true, it indicates - o5 oY Gs®Uoilal i3l sladini Nla,
AR d AR &1y, AR d.................. JUA 8. [ 1 Mark |

= sampling error - elHell Qdls{l ¢4
» standard error - UHIBL{d ¢{d

» Type Il error - Y51 11 ¢4

= Type I error - USIR 1 ¢{d

The process of grouping of related facts into classes is called - Aovifdd dedla adilui AAUOLLG
sc Lol UlsAUlal s&cini 1d 8. [ 1 Mark |

tabulation - URE{USC
classification - CP[[S?.Q[

s pie-diagram - Yl® SIYALH

None of these - GUR Hiell 58 1

Which of the following is a non-parametric test? - oflqot 1M el s °'n°'l-ﬂ.?.lﬂ.[§5 22 8? [ 1 Mark
|

Analysis of co-variance - 1€ (AUl Y2155
Analysis of variance - GRIEIE] Y Ss5:lL
Median test - Hrael Ul &1l

Critical ratio - $i[d$ QIR

The value which cannot be determined graphically is - HS‘H% 3 BIAVLLHS 21U [o1[8dd 53]
sld etell d............. . [ 1 Mark |

= median - H¥&]

» mean - H]S5

= frequency table - ?}{lClEi PR

= None of these - GU Hi&ll 58 «1(&

Parametric and non-parametric are - A (G W (vlet- YIA(GY B: [ 1 Mark |

» terms used in medical practice - doflof] WseuHi duridl Lo

= general tests of statistical relevance - TENER] YAdlddlell UMY uzlasn

= two main groups of statistical significance tests - WisSIS1A Hecdell ulasiledl o
yuy ogell

= alternative to standard deviation test - UWHIRLG{d [qudst AsIAQlAl ([Asey

ANOVAis___ ANOVA...... 8.[ 1 Mark |

= a one-way analysis of variance - % Hily ([Qurel Yy ss:l

= a government body which collects social statistics - 2% U 3] eul % ALML[sS WisSL
As(Ad 538

» the name of a statistical software package - uissisly AlsedR Q%"b’ﬂ ollH

= atwo-way analysis of variance - [&—HPHH GRIRIE] Y5521

The coefficient value of correlation lies between - Hé%.l(*ihl{i, Dleis HRY v lefl g ?J{la.ci 8 [1
Mark |

= Oto1l
= -Jtol



= 0to-1
= ] to-10

e Percentile scores assume a scale of measurement called - Bl[&%ld ULHIS] HiUelell HIUES Yyl 32
8, Bal 5& 8 - [ 1 Mark |

Nominal scale - 3101 l-llU.U.i.C,r(:l
Ordinal scale - ¥o{$H HIUUg(d
Interval scale - ¥id14 HIUUg [l
Ratio scale - QLR HIUusg(d

e The purpose of methodology section of qualitative studies is to - JQLLcHS WY 1A\l sriuLEl
(cetlotell &d 8- [ 1 Mark |

= show how researcher inter-relations will be made - 420lts Wid-eit] 5dl 3ld weilgl d
cllddlledl

= present the focus of the study - 246U [¥e] %cgﬁig % 59,

= provide general background of the study - @A s{l AH 1L Yyey[H Yyl ulsdl

= describe the overall design of the study - TR RN ETE) [335[80101 AR[el .‘s?.fj,

e Internal reliability in qual‘_itative research design, refers to - LSlLlcHS A2lel [SHAIYeHi AidRs
(ciscdeiludl, 2ieil Aeei A0 B [ 1 Mark |

= information selection - Q51| U]

= inter-observer reliability - U{id?.-[;tﬂ&l&'ﬂ (asddeiludl

» extent to which the results approximate the reality - d & 5 Bell URRLM dixd[dsdla
el 52 8

= accuracy of measures - YUl ALSAULES

¢ in research situations, non-parametric statistics is used for -- d2Aldaiel URRY EWﬂHL (0ya1-
ULIRA[GY 2isSI2ALAell GUALL Aleil HI2 &Y B- [ 1 Mark |

= nominal data - vl Hiledl
= ordinal data - {e}$H HI[&d]

= interval data - ¥{c21d HL(&d

= ratio data - QTR HI[Ed]

Section: Section-B

e Education is made from three Latin word: - ﬁl&l'&l AWl A2l 210€) ue{] weiladini 2;{[(21 8: [
1 Mark |

» Edictive, Educare, Educo - QG(SZC{, Q%’?;Bs?., Q@ﬂfﬂ

= Edio, Edicto, Educere - ﬂ[ézn, ﬂ@fsa, ﬂ@ﬂéﬁ

= Educare, Educere, Educo - zh%g?:a, 2;1"6!;!}58, ?;1"62;18-1
= None of these - GU Hi&ll 58 «1(&

¢ What are the three components of the educational process? -- 21&1[2313 ulsulell AL gesl sUL B2
[ 1 Mark |

= Education, teacher and book - (218111, [R1&15 e Y

= Teacher student and environment - @l&l.‘s, [aﬂleﬂ e 'l-lU.‘l-Cl?.@.l
s Teaching, learning and practice - @l&l@l, QnU-lCJ; U U[sed sdl

= Direction, instruction and skill -- (€2l YUeil A4 Sleley

e What is the goal of an education, according to an idealism? -- s vLeAdle UHIE @l&l's’l‘i ey
2 82 [1 Mark |

» Perfect adaptation to an environment - udldl HIR %'l\j\'%{ W] 5Gq]
= Realization of moral values -a[d$ J-LC‘?-nd'l e
= Satisfaction of human wants - Hlsic{lof] ©26912111] Al



= Cultivation of dynamic, adaptable mind, which will be resourceful and enterprising in all
situations

dlldeilel, Heisaniild Hetoll Wdl, B dHiH URRU(MIU] AldAdUs 2 Alss s

e According to existentialists, the teacher should allow the children -- W Redcaaleluileil Ha, (a3
ol $lal Hg wiudl SISV, [ 1 Mark |

= to think about the problems of life -- ®deloil YHRU 1) (AQ ([AUlRq)

= to think critically -- 3114l A (AR

= to understand the meaning and purpose of existence -- 3 Rl cdlof) vie] v é(j, R IRICCTRITE
= All of these - ULt dHIM

¢ In dealing with the problems of education, which of the following combinations will be supported
by a teacher of Marxist orientation?
1. The aim of education is to help in the creation of a classless society.
2. Science and technology help in the development of society.
3. Individual freedom accelerates the progress of society.
4. Progress of society implies subsequent changes in the means of education.

(2ra1atefl AHRAIel] HLHeil S, ollAoll Hieil sUL AU HisAALEL 21 [E10141L (21815
GRL2SL vIuaIHi 21q2l?

@) [Rla1aieil &q adifaElel Auioell [[AHIRIHI Heer Y dlel 8.

Q) [ASilel V1o 2501lcl%) AHI%ell [ASIAHI HeeeU 2LY &,

(3) cUSelold 2Ly AH 1=l WdLlda Aoty 8.

(%) AU Leil wdaLld [2le1ieil Mzl vef21dl 35121 yud 8.
[ 1 Mark |

1,2 and 3
1,3and 4
2,3and 4
1,2 and 4

e Which of the following statement is true about family? -- of|qoil Hieil 3{!; ([auiet §30{ "L Hllj,
82 [ 1 Mark |

= Family is an old institution. - URdR s °{i°‘n Ul 8.

= Family's origin can be traced. - §®o} HOl Ll 2us1y B,

= Family is a new institution - 261 WS oid] el B.

= Family is an old institution and its origin is in obscurities - §§0{ v Us °§°ﬂ e 8
ol def Yo RRURARAIML O

e Which of the following is not an aim of education, according to Swami Vivekananda? - a1l

([ddsicitetl Hd «{lAel Hiell 53 (&1 1e] AU o1efl? [ 1 Mark |

= To bring about the innate perfection - ¥eH%lcd ILQ[dl dladlyle

» To integrate spirituality and science - e [H 5L Wl [AStlelal s[Ed sdl

» To develop national character - UE’:M URAC (As1A sl

= To prepare the young students as social beings - Ydlei (Qaieilaila AHLs uiail
L} dUR sl

e According to 'My Experiment with Truth' - 4| A8l HIRL vl Vojl [ 1 Mark |

» there is little significance of Hinduism - Eg, t’—ll-l{‘L We bﬂ@ Hecd 8

= caste and classes have significance in Hinduism - l'f.g, YU sitld »a CPT{I_, Hecd 8
= caste and classes are baseless - %1(d 34 Al UlAL[GElRLL B

= caste and classes are useless - St o ol o51HL B

e Sri Aurobindo's idea of super mind implies that - sil AR [(eieled) YU Uotoll [AUR 213-[‘51 8% [1
Mark |

= Darwinian Theory is relevant; hence education cannot do much - stldetsfl (R3] Udd 8;
agll (2re1.l ] iy 53] 2Asd =18l

= The task of a teacher is to uplift the awakened consciousness of human beings - @l&l&t’i
$1A HoWofl 212)d Adieilal Gellel BilUdlo] B



= A teacher has to integrate psychology, biology and education in his/her teaching techniques
s (2Letd Hell(dsilet, aldsilel w1 (21l defl / A-llefl (2118l dseilslui 151 5d

539 usel
= Education can achieve its divine purpose through mediation -

Heeldl gl2L (21&1Rl dell 2l &da Uid 531 243 8

Which policy referrs teacher education as a continuous process? - $8 oil(d (&5 (L& Add
ulsul d3 deleid 52 82 [ 1 Mark |

NPE (1986)
NPE (1968)
NCFTE (2009)

University Education Commission - ?;l,[:‘lq Ri) (21811 2411121 (UGC)

Vocationalisation of education in India was first reccommended by -- LldMi Ql&lk’lcll
I dALRASWA-A] AlUAH MG Viloll GIRL AU vl &ll. [ 1 Mark |

Dr. Radhakrishnan Commission - SI. &LL$¥3le{ sHQlel
Mudaliar Commission - El,i.@l!-ll?. 521t

Kothari Commission - 51613 s(H2lel

New Education Policy - oicf] Ql&lQl ofl(d

Assertion (A) Adolescence is a period of storm and stress.
Reason (R) There is intensity in the expression of emotions coupled with absence of

(culet (A) (520121a2e1l ¥ dlslel 3ol dilell AHU2AL .
S1RQL (R) YRA2lddlefl Aes1%3] Al dlrgilulefl wi[¢1cu(sdui dlsidl Sl 8 [ 1 Mark |

= Both A and R are true, but R is not the correct explanation of A - A Wl R 0o YIUL B, U
R A ofl A0 4Hd] 19l

= Both A and R are true and R is the correct explanation of A - A Vol R Giol AL D ¥al
R Y A ofl A1l AUYAl 8

= Alis correct, but R is false - A 413 8, U4 R Un@ 8

= Ais false, but R is true - A U—n@ 8, Ud R U1y )

In view of Piaget, t‘l_le stage of development from the age 7 to 12 years is called - QUICERSINEH]]
Luilal, 7 el 12 auefl gy ledl [Asidell duissia s&didi w1d 8- [ 1 Mark |

= Sensory Motor - ddeet Mlﬂc‘l&n

= Preoperational - 1-j\('l‘:-:'-ll°‘lﬁ:lé'5 [sulcs

s Concrete Operational - 1-L('{-‘-llﬂ‘lﬁ-l.‘s (sulcs
» Formal Operational - 3UALRS HIel([S (5Ul)

Which of the following types of intelligenc‘_e reaches an optimal development ceiling? - D ETRIT|
sULUSIReAL of[eg HedM [AsiA 2l HAiel Yl usld 82 [ 1 Mark |

Emotional intelligence -#HldellcHS oi[Zz,um
Social intelligence - UIHL(%S o [egHl
Cognitive intelligence - SllellcHd$ (‘iﬁgl-l'dl
Spiritual intelligence - e 1[HS 0 [eqHl

_is an example of a primary reinforcing, whereas is an example of a secondary reinforcing.
_yies uuldore] Gelsl 8, IR SN U [Golef GELEQL D. [ 1 Mark |

A Candy bar, a gold star - s ¥oS) OllR, s dlles IR
A gold star, money -¥letlell dIR), Q11

Food, a drink - - Uﬂ?.l&, N U:l'{l,

A gold star, candy -- As Yl dla, 305)

Who was the chief exponent of non-directive counselling? - ollol-Slus2d 51GA(Gd1e1) Hu|
Y28l 5181 &dl? [ 1 Mark |

= Bordin - 6{Sle1
= BG Williamson - &il.%). (cl(cyH Y1



= Carl Rogers _ste AwAd
= None of these - GUR Hi&[l 56 «1(&

¢ A teacher holds discussion with a student and enables him/her to select appropriate choice of
subject at higher secondary stage. This type of guidance is called

s [21a1s (aiel 118 YU 5 O wa dal / Al G urulLs doiss [Anusil 42y yRiedil
URAE AL M2 UM 0lalld 8. B UsIRell HIdieletal sEdIHiw1d & [ 1 Mark |

s Personal guidance - SIESERRIS IR

= Educational guidance - @l&l@l,‘s 1-[[-’[82‘["’1

= Vocational guidance - A ULRS HIdleLlet

= Psychological guidance - Holld$iL(els HI2l£2loA

o NCERT trains teachers for - Yold|9u1122] A 112 [21&18)a didlH 1] [ 1 Mark |

» secondary level BRI [FENES

= clementary level - Ul s 2dr
s pre-school level - @l-%{zc‘l R
= All of these - GULStl dHIH

¢ What Kkind of barrier, does a professional face in the classroom? -- uisHi cadlgy LS ¥l
US1201l Wil HLHell 5l US 82 [ 1 Mark |

Cultural barrier - 4i5[d5s ¥dRy

= Socio-economic difference - ¥IHL[C¥S-211(els dsldd
Both - 6ial

None of these - GUR Hiell 8 «i[&

e Curriculum improvement should be a process. - BLEAYLASHUIL %;L*-ll?..l W ulsula sldl
1S3 [ 1 Mark |

= initial - WIR(HS

» last - @C‘Cj,

= continuous - ¥clc
= internal - Mid[RS

e National Curriculum Framework for Teacher Education in India 2009 was developed by -- elldui
(21&1s (&1L HI2 AVTA WeALRSH HINY 2009 Gl2L [dsAuldcdidi w1} &d [ 1 Mark |

NCERT
NUEPA
NCTE
NAAC

e Summative evaluation implies IS YRYisel Ei\ﬁ-ld $3 8- [1 Mark |

= use of daily quizzes “[ets (5dmell GuAlal

= monitoring of learning through homework - SlHd5 Glel {lwalsfl 2w
» terminal tests -¥{[dH $y12121]

= weekly grading of students - [aﬂlalr[?)ﬂ{i AlHLles Alsal

e Rating scale is a standard device for - Ao By V) defl U2 Huneid Gus:al 8 [ 1 Mark |

recording - 3518 531 WL D

qualitative judgement - QLIS EEL
quantitative judgement - HIALHS @Q{q
All of these - GURAStl dHIH

e Which is not an advantage of checklist? - %} Ys[qeell {Sl?-l&] ofei]? [ 1 Mark |

» Checklist is adapted to most subject matter's areas. - As(G Yl Ldlell (AN drdqell
DENRMENEEOR)



= Checklist is useful in evaluating those learning. - As(a d MBldRell FCITEL RN Gyl

8.
s Checklist does not indicate quality of performance--as (GE Sllf&ll-ldlt"ﬂ il
JUdd teil.

= Process, record observation. - Ll@ﬂll, 381S Eiﬂ&‘lQl.

e Which of the fo‘!lowing is/are the advantage (s) of the reflective journal? -- ol 1uiell sUl |16t
Uldleifoid Feidedl 8/2) 82 [ 1 Mark |

= Time consuming for grading. - AlSaA U HHU L &

» Difficult for objective marking. - éq%ﬂ SEIELRITEREX IR

= Active learning. - Alsy [-él&'lk,’l.

s (Clear guidelines needed, as to what should be included in the reflective journal ~Ufdlcifo4d
oeldHi 9 2lNe 52q A1SA A 213 W HIdl(RUs1 3] B

e Which one of the following will be the most appropriate description of 'Educational technology’? -

RoRfB2leld 25011612 o Aleil AU el oflAstiniell 54 22 [ 1 Mark |

Educational Technology is an effective use of hardware for optimizing learning outcomes in
a school.

&35 dsefls] W AlouHi 2Alwdlell URBLIHLA uYseg, 5cl HIS $1SARe1L HABSIRS
Gulal 8.

Educational Technology is a network of various techniques to ensure and optimize
learning outcomes effectively.

2&1(B1s dseils] ) (2a1lell URRLIHIA 2142515 2d Y[eA(Fdd scll ¥4

ALRULY» sdL HI2 [AldY dseilsle deas .
Educational Technology is efficient use software for optimizing learning outcomes.

Aet(Bs dsefl sl 2 2flwalell URRIHA L [H 185 sdl HI2 slleiH GUALdL 11s2dR
3]

E(iucational Technology is an effective use of multi-media in a classroom context.
Qle1 (315 2 sellelly A dduiseil Aeeui H(ERH[SULA UARS1RS GUALIL B,

« What is the aim of Five Es of Constructivism? - 24elldl&ell UiY Es il @3{2[ 9 8?2 [ 1 Mark |

= To effectively analyze the instruction - YUsilel WAWS1RS Tl [AsANQL $CAL HI
= To grow, understanding of a concept - ([dsyal Hlé, v |Gal MUl

= To evaluate instructional strategy - YUollcHS YSUsilel RISl s HIS

= To gain new information - «idfl %1QI513] Aaddl 4L

e How social learning occurs? - AlHL[ws (218131 3d] d iy 82 [ 1 Mark |

= Through direct contact - {1t Aus Gl

= Through impersonal contact -- 29ld Aus &lkl
» Through personal contact -- ST ESRIENE fARd}
= None of these - GU Hiell ¢ (&

e Which of the following set of statements are relevant for describing teaching as a profession?
1. Teaching profession has an organised body of knowledge.
2. Teaching profession implies a set of attitudes.
3. Duration of Teacher Training Programme is not a professional pre-requisite.
4. Teaching profession has its own code of moral ethics.
(2la1e1a caaAu1d dA3 ariadl Hi2 «{lA=Hiell 5y [culel Uadd 872
Q) [2La181 cuqA Ui Stletef 20216 g Slu 8.
Q) [1a181 caay 1y 3 dagilell qys yud 8.
3) [21als didld s1AsHell AU 2 cAldq LIRS Yd d «iefl.
(%) [R1&1a1 cuadueil Uldlel alds ol [l S1a B. [ 1 Mark |

2,3 and 4
1,3 and 4
1,2 and 4
1,2 and 3

o What are the characteristics of leader? - aldlefl C'll&l[';’lfsdlb-n Qj, 82 1. Great - 1.M&lel 2.
Exceptional born -- 2.4Ud &Y oY 3. Divine power -- 3.3l 215l 4. Educated — 4.(2ul81d [1



Mark |

1 and 4
1 and 3
2 and 4

None of these - GUR Hiell §8 «1[&

e Which method of quality control in education measures student's aptitude? - EIE TSR 18ldril
(ALl 56 ueg(d (Qareiluileil UL HIA B? [ 1 Mark |

Training - dlgly

Standardized testing - WHISI®4d USIAU QI
Teaching review - Ql&l'%l %{1-['1&{[

None of these - GUR Higll 5¢ «i[&

e The objective of inclusive education is -- AduHLd2s El&l@.lcn G-%(Ql 3] [ 1 Mark |

to uncover and minimize barriers to learning - ilwal Hi2ell AUdR1Hle G212 Sl

Wl gl2lsdl i
to change attitudes, behaviors, teaching methods, curricular and environment to meet the
needs of all children

Wl Wl Slef] 2eRULdlA USIA] didl HI2 ddrl), ddQs), (211l Ue [dud),
WYY SH Wl dldIdRRH URddet dlddl HI2

to promote constantly the local cultures and contents of various communities of the society.
AU 1ol (aldy Ayeldlefl 2e1L(ats dS[AB] A [ANUdRda Add Ul lEst A udl HIL.
All of these - GURLStl dHIH

e Who established the first school to educate the mentally retarded children? - UlelRis [asdiol
ol sla (led sal HI2 veH 2ulule(l eLiusil s181 5312 [ 1 Mark |

Terman - 2H[e]
Gardner - 21Se12
Seguin - 832601
Binet - (04

e Which type of interview is used to solve personal, educational and vocational problems of the child,
by the teacher?

(21818 G121, vllnsell culSdold, 81 (BLs e cAldA LIRS AU\ A 1ell (#1151 HI2 sUL
UsIReli 9o2cyell GUALdL $cULH AId 8? [ 1 Mark |

Counselling interview - U2L1H2l HalSLd
Survey interview - ud SR}

Diagnostic interview - [lelellcs HAlsSld
Therapeutic interview - ﬂuui[és LRI

« Who wrote the book 'School and Society'? - '§¢ ¥o5 1A Yds 518l €uj &d? [ 1 Mark |

Auguste Comte A1 Sl
Emile Durkheim - 214{l¢ sugy
John Dewey - °I§é.1°1 sdl
Robert Merto - 1648 N2l

« Bi-polar scale is used in - G{14-ULER ¥¥6 ol GUAULIL B IH ALY & [ 1 Mark |

semantic differential scale - [R112ls [AGles HIULES
rating scale EIEN R

Thurstone scale - 421l 3¢

Likert scale - (@518 HIUES

e How ‘geachers help to develop critical thinking skill among students? - (2ra1sl [Qaell>ui
[itius (duRAI0 sAndl [asAladimi 3dl Ad Hee 52 82 [ 1 Mark |

Through practice - U(seu Glel



= Through practice - (ANl w1ui] el B
= Specifying objectives - éqwﬂ WY s B
= All of these - GULStl dHIH

o Existentialism believes more in than in - Rdcaale sl Ui ay Ula 8 [1
Mark |

= essence, existence -- HIR, W [Rdcd

= existence, essence -- Mﬁdﬂ, A
= action, intuition -- @2{[, Q*idi%é?.Qll
= intuition, action -- ?Jidi%\fg?.k’ll, (sl

¢ Which among the following are the five types of Yama by Yoga? -
A1 g1 oflAetl Hiefl sAL YA USIRaAL AU B2 [ 1 Mark |

» Ahimsa, Asteya, Satya, Brahmacharya, Asana - leré%ll, WY, U, (blﬁl?-luf, W[ Yl

= Ahimsa, Satya, Asteya, Brahmacharya, Aparigraha - Nféi-ll, AU, 2J~Ra?-l, u&uu’,
WURAUs

= Satya, Asteya, Brahmacharya, Aparigraha, Dhyana - A, ?J{%all, Cbl&l?-ll[, ?Hu_ﬁ_@lé, ]|

= Asteya, Brahmacharya, Satya, Dhyana, Asana -- ?i-RaU., 0;[6121?-[, U, &le], A [YHsl

¢ A Vedanta teacher will teach the following - dsidell [21&1s «{1A Ho¥w 2ilwagl
1.Maya - 1.HIYL
2.Science and Technology - 2.[ASllel 10 25«11&1@)
3.World History - 3.[csd oldstA
4.Educational Technology - 4.-‘?[&[@[8 és«-{lc{l@ [ 1 Mark |

o Statement I In 1864, Jyoti Rao and Savitribai started a care center called Balhaty Pratibhandak
Griha.
Statement II Savitribai founded the first girl's school in Pune in Bhide Wada

((1Qeet- 1 2ce¥Hi R A W ALlcAlo1SD) vids1Z] Uldoins s ollMe] 32 Ase A= $Y
&d.

(e1deet I ALlAAlo11g 6{lS arsiui ylui uerd elsuleil 21inieil etusil 531 edl. [ 1
Mark |

= Only Statement [ is correct - H17 22202 T A1} &

= Only Statement II is correct - H12 LIS 11 % A1y 8

= Both the Statements, I and II are incorrect - ol Fiahiﬁﬂ, 13 T W12l &

= Both the Statements, I and II are correct. - oial Gia.i.“n, T3al 1T URUL D

e According to Gandhiji, which of the following aims can be achieved through basic education?
dlit{leetl U uldlell (L&l glrl «ilAedl Hiell 53 LAy [Rieg 520 512 1. Ram Rajya - 1. AU
SN
2. Freedom and autonomy - 2. AL W 2 LUTAL
3. Natural justice - 3. §&cl s 1Y
4. Sarvodaya - 4. udley
5. Equality - 5. Y Hlelcdll
6. Democracy - 6. dls2ulsl [ 1 Mark |

LI |
= 2.3 4and5
= ]
= 2
¢ What is the modern method of acquiring knowledge? -- Sllel UIH sq el Ull*;l,[;‘l!s 1-[?4[;[ 56 87 |

1 Mark |

s Authority - ¥l
= Personal experience -- < [sddld WHd



= Scientific Method -- aSll[;L‘s ueg[?t
= Expert's opinion -- (183lldef] 24 (¢{Y 1Y

e Who was the first chairman of Kothari Commission? - 516121 $(H2leloll U&IH ANl $18L &dl? |
1 Mark |

s Daulat Singh Kothari - gladRie s1s12l
» Uday Singh Kothari -- GeulRis slslRl

= Sanjay Singh Kothari -- 4% [Ris 1613l
= Brij Bhushan Kothari - (1% ¢NBL 516131

e District Institutes of Education and Training (DIETs) were created in pursuance of the
recommendation of

[SRese vlReay2U vils vark2lel oS (611 (DIET)ell sl vl MM Il Bojula
sl vl &dl [ 1 Mark |

National Policy of Education, 1968 - 2A¥1 (21&1L «{l[d, 1968

National Policy of Education, 1986 - 2A¥1d (218131 «{l(d, 1986

Kothari Commission, 1964-66 - 2A¥1Y [R1&1QI «{l(d, 1986

= 42nd Constitutional Amendment Act, 1976 - 42H) 6itl[RQ{1Y Hdlzl g1, 1976

¢ In the history of education in India, the pre-dominant influence was of the following.
(Eenidnauilel oldeiaui ydueilcleil 21242 «{1 Yosoisil edl.
1. Democracy - 1. qlsaulsl
2. Religion - 2. UM
3. Politics - 3. _A¥S51GL
4. Modernization - 4. U{lﬂ[:'l.‘sfl.‘s?.'%l [ 1 Mark |
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¢ In the following statements, given below are some indicators of development during various stages
of development. Select the set of statements, from the code which points out most appropriately
these developmental features:

of|A Wi [Quisilui, ([Asideil (dldy dessipil e MLl [asiedl Sedls yusis) 8.
sisuiel [sldesileil Ay Uie 521, B il [Asiudail diei(Bisdizila Adleil 1oy 2a e 52
8:

1. There appears change in the size of the person.- 1. A [Seiell Si.l-li}s?.{s REWIY 8.

2. There is a change manifest in the personal relationship of the individuals. -- 2. U [Scullel ¥idld

Aoitlui uRddet Aal ua 8.
3. The bodily organization and various organs of the person show change in proportion. -- 3.

AIRLRS o160l WA culSeloil (Al VidDloll UHILIHI 3512 FldL HA 8.

4. The thinking of the person changes. - 4. CU(Sdoil [dURUA Wedld B.

5. There occurs disappearance in the old features of the person. -- 5. (sl °§°‘ﬂ
dlei(QLsdiului v1eu °g Ay 8.

6. There is perceptible change in the attitude of the person -- 6. U (sdetl adIUi Buldl 3§12
ALY B,

7. There develops acquisition of new features. - 7. odi {s'hl%‘l. Sl $AMi 2114 8.

8. The language of the person undergoes a change.- 8. Y [Selefl MINIHE URddet 211 B. [ 1 Mark
|



o Assertion (A) Heredity influences the process of growth and development.
Reason (R) The living conditions-physical, social and cultural do not affect growth and
development.
[1deet (A) dlcicilRAsdl qleg 2 [Asieil ulsulal uetlldd s3 8.

SR8 (R) Ydotoil [Retfd-eNllds, AHLlCs via Airslds (A5 AU (A5 AR Sl otell. [ 1

Mark |

Both A and R are true and R is the correct explanation -- A Wl R Giol AU O WA R A
AR AHYAL &

Both A and R are true, but R is not the correct explanation -- A Wl R Giol AU @, uéq R ¥
)2 Y] oteil

A'is true, but R is false - A Hlﬁ 8, uiq R U{-lg 8

A is false, but R is true. -- 'A’ U-n@ 8, Ul 'R’ U 2}

¢ The problem-solving ability depends upon the. --1H |1l (c121531e(] &l Blell UR BIHIR
AW D. [ 1 Mark |

growth in height and weight - GIULES Adel cAoyetH] C{[ZK_,
development of vocabulary - lueYlelell [dsiA

development of thinking and reasoning -- (AR WA dell [AslY
development in size and shape -- HIU Wl HISRUI [As1

« NCTE became a statutory body on - Ael1Z1® dileil U2 315 Qullels Aell wefl &cil [ 1 Mark |

17th August, 1994 - 17H] 112122, 1994
17th August, 1993 - 1741 41212, 1993
17th August, 1996 -- 1741 212122, 1996
17th August, 1995 - 1741 312122, 1995



